A LITTLE BIT OF MATHS EVERY DAY ...
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Three glasses of squash are made using cordial and water.
The different mixtures are /
Glass A cordial : water =3 :22 }-ss 12 - 12
Glass B cordial = 1/8 of the total volume.é V1 5/
Glass C Cordial = 12.75% of the total volume12-1§7.
Which cup has the greatest proportion of cordial? C
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Factorise fully Work out the value Solve Simplify fully Rachael took a maths test. 2 <100
N of i\ <100 She scored 28 marks out of 40. j— x|
y + 2?&/ 2 0'1 , What is the square mlS xm™>° E' % mLDawd took an English test. s :'01'
+ [} = . - .
6% ) : , 5x°=80 root of 100 Million? m3 Tometan 1A es/coredsz ma:fs O‘:jt g‘f;?th .
2 N - ogetan 70% must be achieved. Did either of them
x*-16 (6 x10%) + (3 x 107) x= i 10,000 2S5, 4 _ -bS getan"A flo g o0 dd
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) linvest £140 in account What is the value of Alfie has 20 sweets. Ben also has 20 sweets.
Mel bsaytsr:vwhen you s'lclquzlare a v\:\i/tl:]:csjttltdao ic:lc;lzt;); —:crt that pays compound n? 20-9C  Alfie gives Ben x sweets. 20+
number zear;ivev::: will always e e%( i wh interest of 5% perannum. | Write 64 as a product ) N 3 2G-S  Alfie then eats 5 of his sweets.
» ! p Y How much interest will | of its prime factors 2°x 2 =2 Ben then eats half of his sweets. 20 2.
Is Mel correct? Justify your the followmg is wrong: . p : i
earnin s years? Le2.22x1 rl Write expressions for the number of sweets eac?\"of them
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1200 ml 180g of copper Is mixed with 05g of Calculate: Expand and simplify | A number "x", is rounded Solve the simultaneous equations )
zinc to make an alloy. (2x - 4)(x - 6) to 8.4 correct to one V. 4X+y=25 h’.l’.~3 EDLY
Change 72 km/h The density of copper is 9 g/cm®and 3 1 At - (22¢- L\K*?J& decimal place. 2. x-3y=16 x b Ax:_ls
into m/S the density of zinc is 7 g/cm’. 3 — 2 — 15 1‘)(:"‘ ~\bog +L | Whatis the error interval 3. kt - ‘28 F4 6'-6 =3
Q . Work out the volume of copper 5 N 7 2 7XY(2X - 3) of x? 1. : 3
O m used in the alloy. L3 X
\s 20cnt lhaty- Q,\fxﬂ 3-35¢ % LB 4S5 3-1 -13y = 5°\ 8 -3 43
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10 isnok duanllebyly | xandyare whole numbers. | 10 ot of a weekly train Tine;ecsg?rwor::r;f:hezri:)o;:?jn 3020 n-2%- 3 (, moJ:wA g 1]
Give an example to show x>50 Sl ticket increases by 12.5% to ) ) WL L = 3 (Lo
that the sum of four y<40 39 225 one of the women are going to Explain why 21is not a Giving reasons, W0
L . Work out the smallest N . be chosen sing the first song term in the sequence g 4
consecutive integers is not ble value of How much did weekly train together. nes calculate "x"
always divisible by 4 possible value ot x -y ticket cost before this How many different pairs y
-39 = 12 i > no Anme : <
s1-39 increase? £1300 couldbe chosen? 33 Ly, @
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